I shall try to do my best, to describe it deeply and give some examples to clarify what I need. I personally did such a program but using C as a programming language. 


Background
I’m using Metatrader 4 build 735.
I have 3 different trade accounts; each trading account is displayed in a different Metatrade4 session. It means that there are 3 open MT4 runs on my local PC and each exe display one trade account.
The Robots I use are:
In the 1st account: 4 robots as follow - Robot All-in-one Long for EURUSD, Robot All-in-one Short for EURUSD, Robot All-in-one Long for GBPUSD, Robot All-in-one Short for GBP
In the 2st account: 2 robots as follow - Robot All-in-one Both for EURUSD, Robot All-in-one Both for GBP 
In the 3rd account: same as in 2nd account.
I’m not aware what type of language Metatrader 4 build 735 needs, either MQL4 or MQL5 and hope to have this information from you as well.
I’m not aware what type of language Metatrader 4 build 735 needs, either MQL4 or MQL5 and hope to have this information from you as well.
Now I’m using the Alerts to notify me when “Value” exceed order price for each order in my account (the condition for activate an Alert is varied, of course it depend on order type: short or long. it means that the condition for Long will ask ">" and the condition for Short will ask "<").
When “Value” exceed order price the information displayed in the column name Profit will be positive. The Value I use take in account the Swap because I want that the Alert will notify me only when the "real profit" is positive. When Swap is zero, than Value is the same value as the Order original price. But when Swap is not zero I change the Value in the Alert definition so that the Alert will notify me only when the real profit is positive.
it does not mean that the real situation is that the profit is positive. For me positive is when "Profit-Swap" is positive.
The MT4 sends the Alerts directly to my Smartphone using the Notification Option.

 


Task 1 - Alert Generate
A program or a script or whatever that runs in the local PC, of course on each MT4 session that runs on my local PC. In usual there are some MT4 on same PC.
Each MT4 will have a list of update Alerts.
Update Alerts will be made every few minutes. Few minutes as will be defined by the user.
User defined minutes is a parameter define by the user in a so-called user interface screen which able the user to change some parameters.
The list of parameters for this program are:
1. User defines: "period of time" in minutes.
2. User defines: "gap" in “Value” in pips.
3. User defines: "taking the Swap in account" is yes or no, take the Swap or not take it in consideration when the script calculates the value in order to have a real positive profit. 
Change in user define parameter will affect the MT4 immediately (can be very few seconds) after user choose OK in the user interface screen.

Explanation for the 3 parameters:
“Period of time”:
Period of time is in minutes. 
This is a positive number.
Period of time is the time interval for the program to refresh the list of Alerts.
Note: this program will also update the proper Alerts list when closing an order. It means that for example if one robot opened 4 orders and the 2nd robot open 10 orders. The total orders now is 14. When one of the orders is closed , in this example the closed order is one order out of 10 orders, it means that now the 1st robot have 4 open orders and the 2nd robot has 9 open orders. as a result the toal remaining Alerts will be now only 13 Alerts.

Gap:
I think the right term for Gap is the number of Pips.
Gap is a number, number of minutes. 
It is positive number. 
The program will do “+” (will add) for type Buy and will do “-“ (will subtract) it for type Sell.

Example that explain it: 
Example 1 for Buy order (the program will add the GAP)
Type = Buyl and 
Order Price = 1.61205 and 
Gap value given by the user is 10. 
Than the program will put 1.61305 as a value in the proper Alert condition.

Example 2 for Sell order (the program will add the GAP)
Type = Sell and 
Order Price = 1.61205 and 
Gap value given by the user is 10. 
Than the program will put 1.61105 as a value in the proper Alert condition.

Swap: 
The user define parameter is yes or no , 0 or 1, 
The difference between yes or no is that in case of Yes the program will take Swap in account and when it is No the program will not take the Swap in account when calculating the Value in the updated Alert.

Profit column shown in MT4 screen doesn’t take in account the Swap.
Turn on this Swap parameter will cause the program to take in account the Swap when trying to find out the Value that the program is asked to put in the field of Value.

I shall explain it in example.
Swap = 0.00USD (or Null).
When Swap = 0.00 (or null)), there is no Swap than the Value field in the Alert condition will be exactly the opening order price.
 
Swap is not Zero (usually a negative):
Swap is not zero, let’s say that 
Swap is -1.00USD and the 
Type of order is Buy and the 
Size of the order is 0.1 and the 
Opening price was 1.22222. .
In this case the program will value as 1.22232. 
Otherwise, if the condition will use the original price (1.22222) and the Alert will be in 1.22222 the real profit in this case for the user is negative because profit is always after Swap.

User can decide to change parameters, to put number (pips) in the gap field and put Yes or no in Swap and change the time parameter.
In such a case the program will take this information into consideration immediately after approving this information.

Additional example, wider example  for Swap Yes or 1 and for a Gap: 
Swap = is not Zero (usually a negative):
Swap = -29.00USD, 
Gap is 15, 
Size is 0.58
Type = Buy and the 
Size of the order is 0.1 and the 
Opening Price was 1.33333.
The final Value will be 1.33533.
Why:
Because for Swap I have to add (+, it is type Buy) 0.00050 (Swap =-29.00 when Size is 0.58 and the difference is 0.00050) and for 
For GAP (Gap = 15) the program will Add (type = Buy so it is +)  0.00150.
Now:
1.33333+
0.00050+
0.00150
1.33533

Note that the updated list of alerts should cover all open orders and should run separately on each MT4 on my local PC.
The final user interface will be as follow:
	period of time
	15
	In minutes
	Default = 15

	Gap
	10
	In pips
	Default = 10

	Swap
	1
	Yes or no
	Default = 1

	
An example of user interface

	
	
	



The preferred name for this script is generator_alerts 
 
Task 2 - Average TP and updated SL
Notes:
Task 2 is different task, different script or program which runs independently from the task1 script.

Requirement for Task 2 
Usually, the robot works, the robot open new orders following the robot pre define parameters and the orders are close when current price is similar to TP or SL. It can be that robot open some orders of same Type and same Symbol. That how robot All-in-one works, one more orders, gives update TP and SL values and hopefully in most cases make a positive profit.
When only one of the open orders is closed it is necessary to update the TP and the SL values for the remaining orders that are still open and referring to the same Symbol and same Type.
For example when Robot open 5 Orders, Type = Buy, Symbol = EURUSD. 
The 1st is 0.1 Type = Buy, Symbol = EURUSD, 
the 2nd is 0.16 Type = Buy, Symbol = EURUSD, 
the 3rd is 0.24 Type = Buy, Symbol = EURUSD, 
the 4tf is 0.37 Type = Buy, Symbol = EURUSD  and 
the 5th is 0.58 Type = Buy, Symbol = EURUSD.
etc.... 
When for example the last order is closed than 4 orders will remain and now it is necessary to calculate new average TP and new SL values and put these values in all the 4 open orders that has the same Type and Symbol as was in the closed order.
In the above example where there were 5 orders with same Type and Symbol, the TP and SL values for the four remaining orders (type Buy symbol EURUSD) should be update. After updating the TP and the SL, each one of the 4 remaining order in this example will have the same TP value and the same SL value (like the robot calculates the new average SL and new average TP values when the robot decided to open new order for all relevant orders). 
Please note that the update TP field should of course take in account the total amount of Swap and the value should be calculate in a way that the actual real profit from summary of all 4 frofits – all 4 Swap will be positive for the calculated new TP.
It can be even a specific orders, let's say the 0.1 size and the 0.16 size and may be the 0.24 size gives negative profit but the total profit is positive due to positive profit of the higer size orders that has the same new TP calculated by the program for all the orders from same Type and Symbol that still open.
How should the program know which orders to update?
The answer is simple. The program will update TP and SL data only for those open orders that has the same "Symbol" and same "Type" as the closed order. Hope it is clear.  

User defines parameter.
1. Swap yes or no (1 or 0).
2. Expected Profit. 
These are values in USD for 10 potential open orders .It means that were there are for example 2 open orders of same type and symbol the total profit from 2 orders when they will be closed is as appear in the table in line 2. And, when there are 4 open orders the profit when they will ber closed is the value that appear in the 4th line in the expected profit table.

Swap parameter:
If Swap parameter is yes (or 1)  then the average TP should take in account the total Swap in all open orders that has the same Type and Symbol so that the real total profit out of all orders will be positive.
If Swap parameter is no ( or 0) then the average TP will not take in account the total Swap in all open orders that has the same Type.
Profit value:
The user will give values for each number of open orders. The program will add this “required profit” when calculating the update TP. the program will choose the value of the “required profit” in accordance to the number of open orders with same Type and same symbol that are currently open.

Example for values in the expected profit table . this is input for the program for calculating the required profit:
	remaing open orders
	Required profit

	1
	10

	2
	25

	3
	50

	4
	100

	5
	200

	6
	300

	7
	325

	8
	400

	9
	600

	10
	750



An example for user interface:



Change in user parameter will affect the TP calculation in the next time when order will be closed and the program will find that there are still open orders with the same Type and symbol as the current closed order. 
Example 1 for calculating the average TP
SWAP = 0
Number of open orders  = 5    (same type same symbol)
Temporary TP = 0
Expected profit = 200

The calculated average TP for all 5 orders will be:  1.63189. look at the table
	Type
	Volume
	Price
	expected profit
	Take
 Profit
	SWAP
	sub total profit

	Buy
	0.1
	1.64778
	200.00
	
	0.00
	-157.5

	Buy
	0.16
	1.64064
	 
	
	-2.50
	-137.76

	Buy
	0.24
	1.63613
	 
	
	-7.00
	-98.4

	Buy
	0.37
	1.62882
	 
	
	-11.23
	118.77

	Buy
	0.58
	1.62384
	 
	1.63203
	-19.87
	475.02

	
	
	
	
	total profit
	
	200.13



There is no difference in expected profit and total profit because the program did not take in account the SWAP
Example 2 for calculating the average TP

SWAP = 1
Number of open orders  = 5    (same type same symbol)
Temporary TP = 0
Expected profit = 200


The calculated average TP for all 5 orders will be:  1.63231. Look at the table
	Type
	Volume
	Price
	expected profit
	Take
 Profit
	SWAP
	sub total profit

	Buy
	0.1
	1.64778
	200.00
	 
	0.00
	-154.7

	Buy
	0.16
	1.64064
	 
	 
	-2.50
	-133.28

	Buy
	0.24
	1.63613
	 
	 
	-7.00
	-91.68

	Buy
	0.37
	1.62882
	 
	 
	-11.23
	129.13

	Buy
	0.58
	1.62384
	 
	1.63231
	-19.87
	491.26

	
	
	
	
	total profit
	
	240.73




The difference between expected profit and total profit is exactly to SWAP.

Example 3 for calculating the average TP

SWAP = 0
Number of open orders  = 4    (same type same symbol)
Temporary TP = 0
Expected profit = 60

The calculated average TP for all 5 orders will be:  1.60565. look at the table
	Volume
	Price
	expected profit
	Take
 Profit
	SWAP
	sub total profit

	0.1
	1.59534
	60.00
	1.58934
	0.00
	-103.1

	0.16
	1.60063
	 
	1.59629
	5.00
	-80.32

	0.24
	1.60594
	 
	1.60092
	11.20
	6.96

	0.37
	1.61205
	 
	1.60565
	15.60
	236.8

	0.58
	 
	 
	 
	 
	 

	
	
	
	
	total profit
	60.34



There is no difference in expected profit and total profit because the program did not take in account the SWAP

Example 4 for calculating the average TP

SWAP = 1
Number of open orders  = 4    (same type same symbol)
Temporary TP = 0
Expected profit = 60
	Volume
	Price
	expected profit 
	Take
 Profit
	SWAP
	sub total profit

	0.1
	1.59534
	60.00
	1.58616
	0.00
	-99.5

	0.16
	1.60063
	 
	1.59506
	5.00
	-74.56

	0.24
	1.60594
	 
	1.60028
	11.20
	15.6

	0.37
	1.61205
	 
	1.60529
	15.60
	250.12

	0.58
	 
	 
	 
	 
	 

	
	
	
	
	total profit
	91.66



The difference between expected profit and total profit is exactly to SWAP.

Example 5 ---- when in addition Temporary TP is not Zero
SWAP = 0
Number of open orders  = 5    (same type same symbol)
Temporary TP = 0
Expected profit = 200
Temporary TP = 15

The calculated average TP for 4 out of 5 orders will be will be:  1.63189.
BUT the TP for the last order (in this case the order with volume of 0.58) will be 1.62434 ( 1.62384 + 15  = 1.62384) and the TP will modify the TP as follow:’
	Order
	Volume
	Price
	New TP

	1 out of 5

	0.1
	1.64778
	1.63189

	2 out of 5

	0.16
	1.64064
	1.63189

	3 out of 5

	0.24
	1.63613
	1.63189

	4 out of 5

	0.37
	1.62882
	1.63189

	5 out of 5 (last)

	0.58
	1.62384
	 1.62434



.

	Type
	Volume
	Price
	expected profit
	Take
 Profit
	SWAP
	sub total profit

	Buy
	0.1
	1.64778
	200.00
	
	0.00
	-157.5

	Buy
	0.16
	1.64064
	 
	
	-2.50
	-137.76

	Buy
	0.24
	1.63613
	 
	
	-7.00
	-98.4

	Buy
	0.37
	1.62882
	 
	
	-11.23
	118.77

	Buy
	0.58
	1.62384
	 
	1.63203
	-19.87
	475.02

	
	
	
	
	total profit
	
	200.13



The real profit will not be 200 but the program will base the TP calculation on the 200 and only after it modifies the 0.58 order in accordance to the value that the user put in the user interface.




The final user interface will be as follow:

	Swap
	0
	Yes or no
	Default = 0

	Temporary TP
	0
	Yes or no
	Default = 0

	
	
	
	

	remaing open orders
	Required profit
	
	

	1
	    
	Value in USD
	Default = 10

	2
	   
	Value in USD
	Default = 25

	3
	
	Value in USD
	Default = 40

	4
	
	Value in USD
	Default = 75

	5
	
	Value in USD
	Default = 100

	6
	
	Value in USD
	Default = 150

	7
	
	Value in USD
	Default = 200

	8
	
	Value in USD
	Default = 30

	9
	
	Value in USD
	Default = 400

	10
	
	Value in USD
	Default = 600




The preferred name for this script is generator_average 


